“H\slﬂff’Ofa(&f Derl‘va.{’\'\/&s
con be defined a5 any derivebive beyond first Jerivebive

- erivenve /! —0—(—2-—Y- ”‘Z

}Zhjj , i - %Q/ o‘gx" / ’17[1%01)/”
- 5, cerivative = hi d A3

S f 7<>/ ;(x%, T [‘F <X>] a

/n.-H,\ Acr\\/a‘l'l\/b - _F(n) <x> () X / 7

Q(;—-) >/;5)<"{"___L{)(3+3x’7/ 7/

Y= 20 -1247 43

\/”;GO)(L—-Z‘F)L

7" = on-24

>,(~t): 20

y(s):_o




Dcrsvo«":voﬁ O‘F /l/r\? Ft/\r\(,‘]’)o'\é

[s»nx] = 05 K
o{ .
ﬁ cos)(]-'—'- —5inX

"1/\/6. can Aderive Aerivatives ‘Fbr- other {—rj 4“'\0)“'%5
‘a;&’[«\—m\,)(] - _O%(- [$?hx] :QCOSX) (c.o sx) (stv\><><—5mx> Cosx +S|r\ \

cosX == — X o ——+= SCCZX

cos®x Co?x T oK
4 1. 4 (sinc)(
— A - = coeS X SihX —SiA% CoSX (Cosx
dx Lestx | =7 [ Sin X J 32 x< ) > ST cosx - 1 (sin3csca’s
./{ ~ J Sim*X Sin%x ’Cf('](
— jX’ [SCCXJ :l)—( cosx M'— ( 13(‘5"'\’0 _ Sin)( _ S;'\X \ 1
Cos? X T Costx | cosy R “’Vm)( SLLX

4
‘._?o‘)( [CSC)( 4 [ ] (Slr\)(%C)} (\§<cosx> -c.osx 7ok
& = sind X 7 Siax . S(—\x:



AW :p | 1,51 52
.'62
/

p 12625
/Q/H/IZ. 2
y C- 58 ev
QL



